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Find the determinant of the matrix

4850 a4l dma x
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A

\Al =

(216 - Curean
v - L)
7Y
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Find the determinant of the matrix

-2 7
1 8

A

|

\R\ =

~Mbond
-1

-
-

d o0

Q3

Solve the system of equations using
Cramer’s rule

3x+y=6

xX—y=2
(=2,0)
(0,-2)
0,2)
(2,0)
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Q1

Solve the system of equations use cramer’s
rule

Bx+y=6
xX—y=2
A K =B

AHEH

EI\X =2 \Alz -y = -4

a)
b)

)
@

(=2,0)
0,-2)
0,2)
(2,0)

>
\

A=13

o
A\f__[;& 26]___,, WPyl = 6 -6=-0

é
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Solve the system of equations using
Cramer’s rule

omel S AL Hha aliily aaladl) Qs s 40

2x—5y=11
—-3x+4y=-13

(=3,1)
(=1,3)
(3,-1)
(1,-3)

Solve the system of equations,

a) (7,6)
(6.7)
0 (-7,6)

d (-6,7)
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Q1

Solve the system of equations use inverse

matrix

x—2y

- R >?\ A S
(7,6)

6,7) [O \
(=7.6) coy 1!
(=6.7)

>y

dex (AY= (8 -(-»

(derrrs —a
P:|= _\_— \’1 3—1
(-5) L7 ™
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Solve the system of equations, el Qi Ja e

—-x+2y—-3z=11
2x+z=4
x—y+2z=-5
AL

Moolde @ @

NATURAL-UPA.M.

3 -3
I = 2
‘ S
7 1
\ o . n -
Solve the system of equations, bl Al a1
-x+2y—-3z=11

2x+z=4 \‘h\t\
x—y+22=—5 -
® \As s(o-Voa)=(16-\ e

(3,4,—2) A

A =
1 T L-s5= D
_3 4 — e @ -3\ [x \
( 3; 4‘; 2) 2 o \‘\[337\:‘5 \{\1\____®
(3,-4,2) NP |
(_3!4':_2)
\AL= ) 80 ]-218 reral
= (=0 (o] -2 (u-0) +{(3) (-2 -0)

= =\=-6+6 = -
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Solve the system of equations,

—-3x+4y—z=-10
6x —y—5z=-29
4x -5y +z=11
(1,0,7) | e oo
(30,29,36)
No solution J~ 3> Y

Infinite solution &Y Jd~
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Q8

Q9

a)
b)

@ n=0n=-7

d)

Q10

Find the value of n such that the
system represented by the augmented
matrix cannot be solved using an
inverse matrix

i

Find the value of n such that the
system represented by the augmented
matrix cannot be solved using an
inverse matrix
[n
7

n=-7

n=0,n=7

n=20 AR

In March, Badria bought 2 standard
and 2 premium ring tones from her
cell phone provider for AED 8.96. In
May, she paid AED 9.46 for 1
standard and 3 premium ring tones.
What are the prices for standard
and premium ring tones?

AED 1.99,AED 2.49
AED1.99,AED 2.79
AED 2.29,AED 2.79
AED2.49,AED 2.99

aie pad o) Qi da (S Y i 1 ded n )
A T gl il

—6:4
2 :2 \A\= o
(W) (2) — ij‘ﬂ("-) =G

9w -6z

aie aat ol il da (S Y sy ded n )

A0 dn gl 48 il

—n: 0
n :-8
(W) = (-wW(F) = ©

W' % Fw= o
wlwx3g)=-o
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In March, Badria bought2 standard and 2 premium ring
tones from her cell phone provider for AED8.96 In May, she
paid AED9.46for 1 standard and 3 premium ring tones.
What are the prices for standard and premium ring tones?

AED 1.99,AED 2.49
AED1.99,AED 2.79
AED 2.29,AED 2.79
AED2.49,AED 2.99

\A|=|i §|=6—2=4
896 2
946 3

2 8.96
lal=l; 54

14l = | | = 2688 - 1892 = 7.96
2x+ 2y =8.96

x+3y=9.46

| = 1892-8.96 = 9.96

w 7.96
AX =B x=r=T =199

6= 3]

e B0t en O 81y Dl ek et A8 2
ks pla g BLORNRS 4 JalaZi 31 J paaall iigll Slazs
Al fm JS o b 8 e i 3 g ke Ak Jike 22 29,46
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Use Cramer’s Rule to find the solution of Sl s el Sl el
Q11 the system of linear equations, if a unique Angda ng g ddal)
solution exists.

S5x+4y =7
—x—4y=-3

Q2 Use Cramer's Rule to find the solution of the system O bl ¥ aladl sl Ja Sy el S 3aeld 2235l
of linear equations, if a unique solution exists. ]
Sx+4y=7 14] = |_51 _‘*4| =20 (-4) =16
—x—4y= -3 17 4| _
Y lad=17 *|=-28-(-12)=-16
5 7
AX=B =% Tl=-15-¢-n=-8

[—51 —44][;]=[—73] . 4] -16

= al :7*16: 1

3a5e ke JEY
https://t.me/+ZwinNRrgdMdIZjRk http://www.youtube.com/@imaths2022

Use Cramer’s Rule to find the solution of Y alaall QUi da Al el S2cl8 sl 120
the system of linear equations, if a unique Asyda ng ) dglall
solution exists.

2x—y+z=1
x+2y—4z=3
4x +3y—7z = -8

Q2 Use Cramer’s Rule to find the solution of the system &) vlaill S alaall plai o ) el S32cl il 2
of linear equations, if a unique solution exists. s gda g
2x—y+z=1 A= | T )
x+2y—4z=3 ! T =(2a v (Fy-2u+ 8
. 5 ) )
4x+3y—7z=-8 = V-0

Ax=mn
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013 Find the solution to each matrix equation.

5 2
-2 1

S U

o
Xy Y2 5‘

A ghiae Ailaa JS g8 13

Jer(M)= Al g - -H
Wy o= ™

N |

A EEN T

[5\2][11 y1]=[9 -8
-2 1 .1'2 yz 0 5
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Q6 Find the solution to each matrix equation. A ghoas ldaa JS I8 B

X e “"""]
At g Lot 6+ 27
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Q14 Find the solution to each matrix equation.

6 4
0 3

12 6

X1 1!1]_[10 8

Y2y,
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Q15 | Hessa bought 2 apples and 3 pears for | 18 & (siaS &l 357U 5 5al 2 duaa il [ 150+
AED 18. Noor bought 3 apples and 6 | A a6y g paE 3 s ALy e )
pears for AED33

a) Write a set of linear equations for this
situation.
b) Find the coast of one apple and one pear

by using Cramer’s Rule el 3 yali s sl gl Aaldl) e ) (o
el S 3acld aliuly 3 gl

INNIe LY BWAY Lvil lll(ﬂl'.""._,"l
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Q Hessa bought 2 apples and 3 pears for AED 18. o83 18 o (5 feS il i 35 £ L5 6 5 D A I o
Noor bought 3 apples and 6 pears for AED33 28 22 33 ey (5 eSS el By I8l 58 3 g8
a) Write a set of linear equations for this situation.
AUl b3gd Tl Y sl (e e game ) PRV EAR4
a) Find the coast of one apple and one pear by using ER 69 =3%
Cramer’s Rule
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Maysoon stopped for gasoline twice during a 160
road trip. The price of gasoline at each station is
shown below. She bought a total of 33.5 liters

and spent AED 134.28. Use Cramer’s Rule to

determine the number of liters of gasoline
Maysoon bought for AED 3.96 a liter

" GAS

Unleaded AED 3.96

price of gasoline at each station is shown below. She
bought a total of 33.5 liters and spent AED 134.28. Use
Cramer’s Rule to determine the number of liters of
gasoline Maysoon bought for AED 3.96 a liter

x+y=33.5
3.96x + 4.05y = 134.28

l4|= |3A{)6

33.5

AX =B

X
l3.96 40561 = 13426 .
11 =15 56

Maysoon stopped for gasoline twice during a road wip. Tiie

33.5 141 = |134.2a 4.05

5250 e Bl

Sy Rl e ey A S G Y B

O T P L SO e S e Y T
2 134,28 <iul s 33 51

3.96 (ko geata 143 5100 A 230l ) ) Sim aadd pal S 82000 kil
Adsa s

GAS Gasoline
Usleates AED 3.96 AED 405!

1| & = =
5 05| = 4.05 - 3.96 = 0.09

1 | = 135675 - 13428 = 1.395

33.5

65t 2s| = 134.28 — 132.66 = 1.62
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